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We usually only cross pg①
product non - zero vectors

.
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Let andJ be nonzero

vectors

in 3 - dimensions .[ ie it 8 and into )

① ixw is orthogonal ) perpendicular

to bothJ
' and in .

② The direction of ixw
'

is given by

the right hand rule .
That is

,
if the

fingers of your right hard curl in the

direction of a rotation ( through
the

angle O less than 1809 from E to I
'

then your thumb

Jxw→&yj§ points in the direction

I
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of i' x I .
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③ If O is the angle between p④
j and in ( OE Ost ) then
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Moreover ,

this is the area of

the parallelogram with sides

J and in
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④ Let ii also be a non - zero
P④

vector .

Let Gp be scalars
, Then :
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and in are parallel ( ie 0=0

or E- IT ) if and only if Tx =P
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Calculatingly
P⑦

④
④ Calculate C-2 x I 3T's )

and draw
the answer

with

the vectors .
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Find the Maclaurin series

and its interval of
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Method 2 :
p⑨
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